TH4502 A 128 (XER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2743 b
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 14,140
EE 450 0 450 10 1,080 432
32 5,000 960 4,040 10 1,188 756 1,080 432
& 7,920 684 7,236 12 972 864 1,080 540
130340 [;£ICALA ¥ 18,730
=50 980 0 980 10 950
£E 450 0 450 10 1,782
RI& 10,560 140 10,420 10 1,188 1,404 432
REAR 6,020 0 6,020 10 1,048 842
BRE 720 0 720 10 842
130400 (1% % 4,058
H 3,290 0 3,290 10 - - - 2,700 1,566
§377 190 0 190 10 1,728 864
®me 8 0 8 4 2,808
fE 300 0 300 10 1,188
130600 [NACA a3 2,295
i Ll 135 0 135 5 2,592 972
mE 1,760 40 1,720 5 4,320 3. 888 4,320 1,188
131100 [ 3¢ % 30,633
Ik 22,455 5,028 17,427 15 1,188 756 1,512 594
50 3,075 0 3,075 15 1,728 972
EE 2,958 922 2,036 13 864 1,361 648
FFL 1,200 0 1,200 12 1,080
fif] LI 945 945 0 15 1,188
131700 |Fr Y % 55,418
HE 200 200 0 10 756
4 27,750 5,890 21,860 10 1,512 1,080 1,512 648
EE 25,968 11,795 14,173 10 680 551 1,296 637
FFL 1,500 0 1,500 10 1,296
131800 | [F5NAE 3 2,722
£E 515 344 1711 0.2 184 76 162 80
®me 400 16 384 4 2,808 3,240 1,620
& 1,530 0 1530/ 45 2,700 2,295
131910 [FHE 3 7,931
N 36 0 36[ 0.045 63 62
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R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2743 b
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
£EE 59 4 55| 05 302 302 270
i L 385 0 385 1 1,296 324
F 4,238 0 4,238 10 4,568 2,430
BIE 2,990 50 2,940 5 3.240 2.700 3,780 2,160
= 10 0 10 1 432
131950 |B 4 3 8,140
£E 129 99 30 3 1,890 864 1,620 1,296
B 2,245 508 1,737 3 1,512 1,080 1,404 864
BR 72 0 72 3 1,296 1,242
BE 90 0 90 3 864 648
133400 |[LAR ¥ 20,468
EE 11,548 11,198 350 10 3. 024 1. 404 4,644 1,620
32 3,980 1,080 2,900 10 4320 2,700 4,860 1,620
RiF 4,040 2,820 1,220 10 2,160 1,512 3,780 2,376
134100 | A/ ¥ 15,045
®me 5,880 1,290 4,590 5 2,592 1,944 2,700 1,728
IR 305 0 305 5 2,268 1,512
=il 950 870 80 5 2,376 1,944 2,052 1,944
= 1% 7,540 2,390 5,150 5 Z,592 Z, 052 2,700 1,933
134200 |E R 3 5,260
—1—-U—5UR 5,260 0 5,260 10 - - - 1,728 1,296
134300 |AaF e 5,722
32 708 50 658 2 1,080 972 1,188 540
=5 3,994 550 3444 0.3 130 124 194 124
12w 900 159 741 0.3 173 151 167 162
e 120 0 120 8 3,024
134400 |F<+ i 9,437
E[E 1,985 80 1,905 4 1,404 2,867 648
& 1,081 0 1,081 4 1,296 1,080
i 6,009 114 5895 0.2 108 108
134500 [E—< > s 10,917
=40 3,160 28 3132 o0.15 97 162 97
= 1% 7,657 2,023 5633[ 0.13 130 119 130 119
135100 [LNAVIF A 3 580
=40 60 10 50 2 3. 024 3,780 3,240
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R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2743 b
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
135200 |3 = s 161
FIEIT 156 10 146 Z 2. 808 3,240 1,404
136100 [MAL & ¥ 36,795
FE 100 0 100 5 1,512
me 6,675 925 5,750 5 2. 160 1,188 2,268 810
=il 20 20 of o5 162
N2 10,300 0 10,300 5 2,160 864
136200 [ E#5Z 3 10,090
itiEE 8,990 1,690 7,300 10 Z, 484 1,998 2,678 1,728
ERE 1,100 0 1,100 10 3,305 2,873
136210 | A—9 4> % 1,890
dtiEE 1,590 0 1,590 10 2,074 2,030
EE 300 300 0 10 1,080 432
136300 B ¥ a3 2,130
IR 1,880 80 1,800 10 3. 240 Z,592 3,240 1,836
BE 200 0 200 10 1,728
136600 |f=F1a= % 1,440
dtiEE 220 0 220 10 4536
EE 1,220 1,220 0 10 3 132 Z, 268
138100 [ LU =(F “ 4,187
£E 255 60 195 0.1 140 81 92 76
BE 3,096 70 3026 0.2 238 2217 281 86
138500 |L&HLE ¥ 6,072
IE54 6,054 290 5764 0.2 19 70 79 59
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PR REFETS (KI5) BEB#HK
#4402 B 128 (#EA)

= ESEiaE: 718 b
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) iR b HAXERE|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240700 | @R M A A ¥ 12,617
eI 10,959 2,411 8,548 10 3. 888 1,080 4,104 1,080
32 1,658 770 888 10 4,644 1,566 3,780 864
241300 [{FF 3 12,899
IR 12,899 6,574 6,325 10 Z, 484 1, 404 3,240 1,080
241320 | /\¥H 3 3,770
Faxl 1,500 740 760 10 2,560 1,944 2,376 1,944
LE 2,270 150 2,120 10 4,104 3. 024 3,780 2,160
241390 [IZA DA % 2,180
FiE 2,000 0 2,000 10 - - - 1944 1.404
241470 |ZEA DA ¥ 310
= I 310 256 54 [} 1,512
241481 [T a7k % 4011
F 50 0 50 10 1,404
IR 2,970 0 2,970 10 - - - 1,944
HEAR 716 0 716] 25 270
242320 (33 —ILk % 2,252
= 2,252 1,722 530 3 188
242830 [ S\CYAC g 21,701
F 21,701 11,549 10,152 10 4,536 2,700 7,560 1,944
242850 | EMYAC % 761
5 761 511 250 3 788
246000 (V6T ¥ 11,061
EE 426 208 218 025 994 302 540 432
E 959 328 631 0.3 659 486 702 486
=i 553 152 401| 027 540 324 540 324
&5 365 365 of 024 562 497
Ei5g 2,127 238 1,889 0.25 540 378 540 302
REAR 4,855 2,251 2,604 0.25 486 32 486 346
= 5 688 113 575 0.27 454 486 410
247100 [7—JLA A % 264
E4 i 264 153 111] 8.5 11, 340 6. 480 12,420 6,480




